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6. A conducting rod of length L parallels to an infinitely long and straight wire 

carrying a current I. The rod moves with a constant velocity in a direction 

perpendicular to the wire. What is the magnitude of electric motive force generated 

between the ends of the rod? (10%) 

7. In a double-slit experiment, as shown in Fig.2, the wavelength hof the light source 

is 400 nm, the slit separation d is 19.5 pm, and the slit width a is 3.15 pm. (a) What 

is the intensity (I(8)) of interference pattern observed at the far screen with angle of 

8? (Hint: Express I(8) in terms of h, d and a.) (b) How many bright interference 

fringes are within the central peak of the diffraction envelop? (15%) 

Fig.2: double-slit experiment. 

8. A series RLC circuit has R = 200 R ,  L = 250 mH, and C = 10.0 pF. The applied 

voltage has amplitude of 50.0 V. The capacitive reactance is 100R. Find the 

following amplitudes: (a) the current I,,,, (b) the voltage AVc across the capacitor, 

and (c) the voltage AVL across the inductor.(l5%) 


